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SECTION 2.6

. 3% = fixp= x +2fr 0 =% =2,
evaluate lm f(x)

\ J
LFT @f’ﬂ“‘ {lm’p LET Ll(?‘»}&x.fl

NOTE THxT L,,_ g(xm Anﬁ = 3| =

>
jl;w ]A(‘L}: ﬁm W3+L>.: i 1‘-1 =3
> K

swek )& fl) L)
N
3 3

i - )
A SINCE 9 (£)=>3 2 X~ |
pip Wx)23 @ X2l

.

e £
e s _E | BN THE SOUBERE M
{ K ol - ,.-._“_.....m___,f ( P ) 57)




SECTION 2.6

2. Prove that Iim (x4 cos(2/x)) =0
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SECTION 3.1

1. Letfix)= x* - x
(a) Find the slope of the tangent line at x = 2 using the

limit definition of mygy,.
(b) Find the equation of the tangent line to the graph of f(x) at x = 2.
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SECTION 3.1

2. Let g(x) = [x]. USing the limit definition of my,,,, prove that there is not
a tangent line to the graph of g at x = 0 (show that the slope of the
tangent line does not exist at x = 0).
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